Deriving the traditional formula for the quadratic equation
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ax*+bx+c=0
where x is unknown and

coefiicients: &, b, and C
are real numbers with: 820.

Divide both sides by: &

X2 + (b/a)x + (c/a) = 0

add (b?/4a%) to both sides:

X2 + (bla)x + (b*/4a?) + (cla) = (b*/4a?)

This step is known as "completing the square”, because
it can be expressed as follows:

X + (b/2a)f = (b?/4a?) — (cla)
Now take the square root of both sides:
X + (b/2a) = =\ /(b?/4a?) — (cla)

or:

x = —b*Vb?—4ac
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